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General Instructions :

(%)
(it)
(iti)
(iv) .

(v)

(vi)

(vii)

(viii)

(ix)

There are 26 questions in all.
All questions are compulsory.
Marks of each question are indicated against it.

Questions number 1 to 10 are very short answer questions
carrying 1 mark each. Answer to each of these questions should
not exceed 20 words.

Questions number 11 to 20 are short answer questions carrying
3 marks each. Answer to each of these questions should not exceed
80 words.

Questions number 21 to 25 are long answer questions carrying
5 marks each. Answer to each of these questions should not exceed
150 words.

Question number 26 is related to identification or locating and
labelling of geographical features on maps.

Outline maps of the World and India provided to you must be
attached within your answer-book.

Use of templates or stencils for drawing outline maps is
allowed.
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(i) F97 GBI 21 § 25 7F TI-30 G I9T & SN FI9F FIT F 5 3% § |
T T IR IvT @ IR 150 V' & F & 78 & TR’ |
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(ix) {@-EARA FE % o wiat 1 @fer & g @ sy & i 8

1. Mention any two sparsely populated regions of the world with less

1 1

than 1 person per sq. km. §+—2—=1

W%Wﬁﬁwmﬁwaﬁm%wmaﬁﬁfaﬁm@mﬁ
IR R i v O

2. Which age group of population is known as working population in the
world ? 1

ﬁwﬁmwﬁwmﬁmm@r%wﬁww% 2

3. Who are the red-collar workers ? 1
AE-Hie A g TR S € 2

4. What is wholesale trading service ? | 1

g% AYX Yar FT & ?

5. Name the terminal stations of the Australian Trans-Continental

Railway. i"'é: 1

2
TR TR e ¥ e fad 3 SR ¥ AW aaEy |
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6. Which country has the highest road density in the world ?

faga § walfuss wga w=ca foog 2 # wran S ® 2

. e . 1
7. Name any two ‘Garrison Cantonment’ cities of India. §+é=

w%ma‘ﬁmm’m%wmn

8. Name the satellite port of India, which has been developed to relieve

the pressure of Mumbai port.

TG % I SN WA H AW SRy, e s gad W % o @ s
F & faw fee T g

9. Name the country, which is the largest trading partner of India.

39 W F AW IAET, S ARG F AR A FRE TERR § |

10. Which is the most significant contributor of water pollution in India ?

aRd ¥ o B Wi FH F ga9 oifus dheH e @ 2

11. Explain the concept of ‘Possibilism’ with suitable examples.

AR & foER @ SUgw QR Aied WY &HINY |

12, “The shape of the population pyramid reflects the characteristics of the

population.” Support the statement with examples.

“SEen ffie & erfa S W fadivarel & uitefdd SR 8 1 Seewn
e Fo @ Y A | o
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13. Study the diagram given below and answer the questions that follow :
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Identify the diagram and give proper title to it.

) QS SN o0 ilys AUV SRS SIS JUEE NN NS RN MU 0N i B 4

(13.1)

What type of mining activities are presented by A and B ?

(13.2)

What is the main difference between the two methods of

mining as shown in A and B ?

A9 T T @ @ srere ST sk Frefafas Yo % 3
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Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 13.

Tz : Frfafad 5o7 #ac gEd aiienaa & 7T 797 G@m 13 % @ WE |

What are the two types of mining ? Write two characteristics of each. .

1+2=3

w%ﬁmﬁ%?ﬁmwﬁﬁ-aﬁﬁmﬁml

14. What is satellite communication ? How has it brought revolutionary

changes in the field of communication in the world ? Explain. 1+2=3

I GAR FAM 2 ? THY GER ¥ GOR & 87 H few yeR wmfderl uiEdd feu
¥ 7wy S

15. Explain any three basic differences between rural and urban

settlements of India. 3x1=3

T st T A § Rl A TR SRR # W SR

16. Explain how the ‘small size of the farm’ and ‘fragmentation of the

holdings’ are the two major problems of Indian agriculture. 2x1 é=3

DR MER F VT IR FreRd 7 TRAT B @ wgw gwent e R
g, W Wi |

17. Mention the three major mineral belts in India. Write the main

feature of each. : 1é+1—;—=3

Ta § @il # AR wE i @ swem ST | Tas W g faema
fafae | |

18. Why are sugar mills located within the sugarcane producing regions in

India ? Explain any three reasons with examples. 3Ix1=3

qRa § G el T S o A o R ¥ 2 e O SR &) SoRwl
iga Wy g |
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19. Study the map given below and answer the questions that follow :

1+2=3
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(19.1)
(19.2)
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Name the two districts which are marked. by A and B.

What is the difference between the two areas shown as ‘Under
Flow’ and ‘Under Lift’ system of irrigation ?
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(19.1) A 3 B g0 3ifed g1 el & 99 sey |
(19.2) feEm @ 99 @@ 3K 99 s’ fFar oae & & 83 § F= 3R

g 7?

Note : The following question is for the Blind Candidates only, in lieu bf

Q. No. 19.

2 fefafaa 599 @ae7 givEiT adiemdal & T 599 Ge 19 & @& W §

Explain any three achievements of Indira Gandhi Canal Command

Area Project.

e T TR FwE & uRESE F B 9 SuaEE @ Wy SR |
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20.

21.

22.

23.

24.

25.

What are slums ? Mention any four major problems of slums in India.
1+2=3

T afE 3 8 2 IRg & ) ol & Rl U gEEnsl & S’ Eifu |

What is tourism ? Explain any four factors that attract tourists to a
particular place in the world. 1+4=5

Tt w2 7 5 IR EREl # Wy whw, o fawe ¥ wE Ry g
F AT F & |

Classify ports on the basis of their specialised functions into five
groups. Write main feature of each. 2é+2—é—=5

faftrsiga Frfeamdl & STUR W T ® W U H ST | Y @ & IE
feivar fafaw |

Explain any five major problems related to urban settlements in the
developing countries of the world. , 5x1=5

fove & fowmeia <o § Tg afadl ¥ wafug G W W@ gnenst @l
wﬁﬁm

“The spatialydistribution of religious communities in India is quite
uneven.” Support the statement with five examples of different
religions. 5x1=5

“qra # s wyerEl w1 wwfe e Sgd emm g 1 fafm Wt & diw
ITEW W T, W F & I W |

How are waterways an important mode of transport in India ? Explain
two main characteristics each of inland waterways and oceanic

waterways of India. ' 1+2+2=5

e e URee @ T eyl e fRE YRR ¥ 7 uRa ¥ v

St SR HRrETE Semn @ 9-d e fEivad Wy SN |
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26. (26.1) In the given political outline mép of the World (on page 13) the

following four features are shown : 4x-;—=2
A. A major area of extensive commercial grain framing

- B. A major sea port
C. A major air port

D. A mega city

Identify these features and write their correct names on the line
marked against each feature.

(26.2) In the given political outline map of India (on page 15), locate
and label the following with appropriate symbols : 3Ix1=3

(1) The state at the top in Human Development Index
(ii)  An oil refinery located in Héryana

(iii) A major sea port located in Orissa

(26.1) SER F Ry Tu T YE-aEiE (98 13 W) § fefaRed 9R eE

femme T B

A fowgE affes sAe §i @ g 8

B. srgr@rquﬁfm

C. @ 9 U

D. #m &

T RN I YEEN HINT SN TEE RO % G Wi T W WIS E
T9 fafay |

(26.2) faU T WRE & TeHIfos W-AEfET (38 15 W) & ffafaa & ffg
() e 5N gEes § wEk T
i) wRET ¥ fer A GRS
(i) IS § o o Y@ §gE WA
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Note :  The following question is for the Blind Candidates only, in lieu of
Q. No. 26.

Mz : Freififaa 997 dac giReiT qhemia & 0 797 9o 26 & @ W § |

(26.1) Name the northernmost major sea port of Germany.
(26.2) Which is the ‘Mega City’ of Nigeria ?

(26.3) Name the state of India which has the highest rank in Human
Development Index.

' (26.4) Name the oil refinery located in Haryana State.

(26.5) Name the major sea port located in Orissa State. 5x1=5

(26.1) A & G ST W@ GYA 9O H A TR |
(26.2) SR & B fRey wmiae @ 7

(26.3) WRA & 3IY TSF & AW FARC, ﬁw‘wmwimﬁmw
2

(26.4) =T U9 ¥ R S GREROTEIEr F AW SR |
(26.5) 31 TsA ¥ fRud @ W OO H AH TR |
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